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Moment distribution method:
e Carry_over factor C:

Cab=1/2

e Stiffness factors K:

K=4EI/L

k=3EI/L=0.75

%




- il ;180 Jelsbie] : sola)l awl

e Distribution factor D.F:

Kij
DFU = Z_K

1pgut) 8 puolone
Procedures:
1- FEM's, D.F's.
2- Equilibrium in selected node & moment transfer.
3- Redo 2 till convergence.
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Example: (very important)
Draw the final B.M.D for the given beam using the M.D.M
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FEM:
a = = b
Mab 15 m Mba
My, = — 25 = — 239" _ _450 KN.m
ab = 4y T 12 '
_wl* 24(15)* 450 KN
ba = T T 1 T |
0.5 0.5
joint a <« - S C
member ab ba bc Cb
D.F's 0.5 0.5
F.E.M -450 450
-112.5 -225 -225 -112.5
Mfinal -562.5 +225 -225 -112.5
D.F's:
Joint b:
4E(1.51)
- ba _ 15 _
D.Fp, = K+ K, = ZE(ish | 4 0.5
15 10
K 4_H
_ bc _ 10 _
D.F,. = K+ K, = ZE(iSh 4 0.5
15 10
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Example 2:

Draw the final B.M.D for the given structure using the M.D.M.
(relative inertia's as Shown)  cnwe 98 Loss acruid) Alkaatl agie
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F.E.M's:
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AB: 10 KN

B L C

3m

SRR
FEFFirrid

2 m

MBC

_38))
BA — 16 -

MCB

7.5

10 KN

BC:
s L

2 m | 3m
10(2)(3)?
BC = — (5)2 = _72 KNm
10(2)*(3)
cB = (5)2 =48KN.m
D.F's
Kpa
D'FBA - Z_K
Joint B:
3E(2])
D.Fy, = — B4 _ 5 = 0.43
-I'BA Kga + KBC 3E(21) n 4E(21) )
5 5
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K 4E(2])
_ BC _ 5 _
D.Fgc = Kpa + Ko ~ 3E(2D) + 4E(21) — 0.57
5 5
Joint C:
K 4E(2D)
CB
D.Fep = Kep+Kep = 4E(21)+54E(1.51) = 0.44
K ° 42‘(1.51)
D.Fop=——2 = 5 = 0.56
Kcg + Kcp 4E(2D) n 4E(1.51)
5 5
Note: ), D.F = 1 only in any joint
0.5; 0.5;
joint A P B C D
member| AB < BA BE A= CB CD DC
D.F's 0.43 0571044 0.56
F.E.M 7.5 7.2 +48
0O 0.
-0.13 | -017
-0.85
-2.075 | -2.64 |
0.5 .9
-1.04 T 71.32
+0.45 | +0.59 __—
0.
0.3
-0.13 | -0.17
F
Og U.9
-0.07 -0.09
0.03 0.04
Mfinal 0 7.85 -7.85 2.81 281 | -1.41

Not transfer moments: 4.8 + (—0.085) = 4.715 W L) Js~i—4.715
CB:0.44(—4.715) = —2.075

CD:0.56(—4.715) = 2.64 &L s
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Final B.M.D:

3.925
A\ el 2.81
A / C 281
B
%0?5 % 6.17
10 12 Z
14124 D
Written by ahed naser.
Join Us
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